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436 00:15    expT = 188 s   Kp=1.7    moon=0.01
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436 01:04    expT = 188 s   Kp=1.7    moon=0.01
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430.5431.0431.5432.0432.5433.0433.5434.0434.5435.0 01:28    expT = 188 s   Kp=1.7    moon=0.01
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433.0 01:52    expT = 188 s   Kp=1.7    moon=0.01
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431.0 02:17    expT = 188 s   Kp=1.7    moon=0.01
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431.0 02:41    expT = 188 s   Kp=1.7    moon=0.01
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03:05    expT = 188 s   Kp=1.7    moon=0.01
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429.6429.8430.0430.2430.4430.6430.8431.0431.2 03:30    expT = 188 s   Kp=1.7    moon=0.01
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431.8 03:54    expT = 188 s   Kp=1.7    moon=0.01

0 100 200 300 400 500
432.8
433.0
433.2
433.4
433.6
433.8
434.0
434.2 04:18    expT = 188 s   Kp=1.7    moon=0.01


